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If 1 joule of work is done against the electric field in bringing 1C positive charge from

infinity to a point in the electric field then the potential at that point will be ...
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The ability of a capacitor to store charge is affected by ....
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The Gaussian surface for a point charge will be ....

To store a large amount of charge at relatively low voltage, we use ....
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Which of the following graphs shows the variation of electric field E due to a hollow
spherical conductor of radius R as a function of distance from the centre of the

sphere ?
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Gauss’s law due to different charge distribution is used to calculate ....
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Cylinder of radius R and length L is placed in a uniform electric field E parallel to the
cylinder axis. The total flux for the surface of the cylinder is given by ....
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Electric field intensity due to an infinite plane sheet of charge is ....
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Electric intensity due to an infinitely long plane sheet of a conductor at a point close

to its surface is ....
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Electric flux lines due to an infinite sheet of charge is ....
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If Laplace equation satisfies, then which of the following statements will be true ?

I ayEe SHeaat Wug 33, o@ faufiiie [gfesfm mwn @@lc wey
& ?

Find the potential due to a charged ring of density 2 units with radius 2m and the
point at which potential is measured is at a distance of 1m from the ring.
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Gauss law cannot be used to find which of the following quantity ?
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When an electric dipole is placed in a uniform external electric field parallel to the

field, it will experience ....
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An electric charge q is placed at the centre of a cube of side a. The electric flux on one

of its faces will be ....
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